EAGRAROBREERT — 2 N— ABISH —F

2013545290 (A) 2mEKR6H

N C2=# 7% (xwlw | mEmml - |5 @) o s
[A&4£)] 1% :100,000 ™ ~ 23#%&:20,000”  33#%&:10,000 ™ ~ 43%&:7,000H ~ 53 :3,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N iR . 00— - BEILES (%R
izl 7= 77102 # o4 | e 1.(3_0).9 2-2-2-1 | 39.1 1 (4;0) el (B%F)
LN=VI754 B:A1>57 N 45035
TSN Bl BB AR :31. -1-1- . — FHET (KiR)
21505 Yv—LTELY 4 8 52_0 1(341)5 1-1-1-1 | 40.0 2 (4_728) %*é_r
L:FUL Ry TA—K B:YhHEX A E=
N — s AF8E : -3-5- - REER (KR)
3 4| TN~ 46 £ 1.(342).2 3-3-5-3 | 40.1 3 <4+723) ﬁml#;
:Hrs0-Liv 875704 BORM S
=3 : 4 5 | BOB— 1:32.6 10-10-9-9 | 39.0 | — 6 495 |1t EEFE (KiR)
4 2| =¥/ AR =R 56.0 (2 1/2) -7 EHER
VIWN=Frv—L B:Z2 /74820~ Gieflipae]
RS o4 | HEEME— 1:32.7 3-4-3-4 | 40.6| — 5 458 | MRS (ERF)
s 22 56.0° (1/2) o | (B) BEHS
R:T7HIHTFLIL BOyFHLX palibie)
. FmE .39, A . — EEAS (KR)
61810 IVZ>FUL i 54.0 1(73%:? 67475 403 ! (4_427) /?\_%3",35
XTIy 8% —F BIILI—Ta H2 0 LS
T > L AER : -8-7- - FEILES] (B%RH)
7l g nYTHISIL > 5| WA 1.(3233.1 9-8-7-7 | 39.9 4 (4_531) Eiﬁ.‘ﬁﬁik
Ry KYTYIRIZX BZRXAHT—X 75 Fiig
S o4 | BIXIE 1:33.2 8-5-6-6 |40.7 | — 10 | 415 |&HEE (KR)
g8l1/1|7—A3—=K 56.0 (1/2) “n | @B P N
LY I5TLIFr N BT IER Wit &
- . 3 4 6 | FEHEE 1:33.7 5-6-7-7 |40.7| — 9 482 | FHEF (KR)
ol 3| =FV Lt 56.0 ® “n | B £=257
R:T5>F5 BAYI/RTFTF=— KIFERAR S
. _ =i -34. -9-10- 8| = FREERN (KiR)
olslg| ¥==>7>725 i 5 i 1(374)8 6-9-10-10 | 41.3 8 (41; i
R:h—> B hH—ZN SRS
® 1 —F—@EBIERL
13=7r= 5,7,(4,6),3,(9,10),1,8,2
2a=5F= 5,7,4,6,1,3,10,8,9,2
Ja=9= 5,7,6,10,4,1,(3,8),2,9
40—+ — (5,7),4,6,10,1,(3,8),2,9
[ N5
B 7 1004 714K 5-7 190 e E 5-7 280M JEE 4-5-7 470
B B 7 1004 4-7 160M B = &1/ 310 3B 7-5-4 980M
5 110 4-5 300 B H 7-5 310
4 110

ARICOVWTRDTEEERROODE. TR LI,




